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I " T o (MATH-101) s
Question( 1) ( Lf1\_1]\ cal ) ‘\.NSLIA) e (‘JS.\.\ 5 pialadll () dhspnlan

1).f (0) 2 lim 1 () :
fO=2 ~lim f (x)=D.N.E PL B
| X2 /0 It :

3). lim f(2><) '4). Find the domain of . — /. —— ?1 —
x—0 3Xx“+1 : T « ||____._| _________ |

I — | ‘Ir _____________
lim f (x l\ A
_ x50 _2__5.D = (—o0,2) U (2,0) 0/ \ |
lim 3x*+1 1 i ¢ \‘&1:

x—0 I

5). Find the vertical asymptote (s) for f .

V.Aatx =2

7). Find the x —values at which f is discontinuous.

3 L TR SR
S

discont. at x =-1,0,2

Question(? )I - Use the definition of limit to show the following : I
1. lim (15-6x)=-33 I T
Assume & > 0we are going to find 0 >0 15_6X_(_33)| <€ i ;’1’0=8 B i
; | L (— O
Ve>036>0 15-6x +33 <« L=-33 |
O<|x-8<5 —6x +48|<¢
x-g<s  [Ollx-8<e
x-8<g

o Choose'd = % n
| 0583422200 9~ prof math sy s
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Question(3) ( u—U\ a5l ML“) e ejs-“ b_jaalaall (...)) eéj)s).am
2). lim +x =5=0 E— MSARES
X —5" = N— : +))>d :
Assume & > 0we are going to find 0 >0 . E a=9 i
ve>03570 | xTE o< OISNES,
5<x<b5+¢ | ' L=0 :
WX =5l < h oo
O<x-5<6 5‘ ‘ ¢
x-5<68 |
X —D <o |
\’ Vo Ble 10
choose )
____________________________________ O=&
Question(3) ! A). Find all horizontal asymptotes for the following function (if any): |
X
7 2 f ()= %,
= ! 16—Xx
D.T(x) X +4 : —
| Find the domain  Jall 225 | i | Findthe domain  Jal 35 |
Dy =(-0,-2)U(2,0)-{-4} | Dy =R-{+4
o0 Df i tToo e Df
2 4 4 : : X
_ X (1—)(2j X 1_Xﬁ I !m(la_xz)
lim . = lim 7 : y
X —>+0 X —>+o0 [ .
1+— X| 1+— I = = — J—
X(“Lx) X ! >!I—r>ro]ol6—x2 0 [m=1<n=2
1 4 i likewise; lim -~ =
now Tim SV % _ i Ve g | oo
x—>+oo)(1+£ X0 1+£ N i HAaty =0
X o0 :
P a
likewise; lim 2‘ =-1 |
X —>—00 )( 1+; :
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F— . (MATH-101) (=2
Question(3 )4| Question(4) ( LA RWEEN A ML“) e ?K'“ 5_alaall (...) esj)s)a\“

X [x|-5
5 P I, SN
S A S 1] .Ex,\};:_\

__________________________

__________________________

x?=0 = x=0 x|-5=0 x| =5
D, =R-{0} x =5 D; =R—{+5}
Iiml—cosx (O) 1+Ccos X :r“__@_):;s_\:j:_"l Iim 2f+5 =i ) %zoo
Ul. ! + X
X -0 x? \0/ 1+cosx 1-cosx =2sin®% ; x5 [5-5 70
1 cos2 1" """""""" o lim > —lim g——
=IimL52‘X- I ! x—>5 |5-5 x—>5 0
x>0 X x—0 1+C0s0 . V.Aatx =5
2 :
. . : 5 -5
=|lim "™ | im.t=1.1=1..p liMm ==
+ X x —0 1+1 2 2 | X —>—5 |— 5|—5 0
X —0 1
1 . -5 .
. . - 1-cosx 1 : Iim =_ 5 =—00
== ! L )
likewise, ilir; N 5 % 20 | ok 55 o
NOV.Aatx =0 - VAAX =m0
______________________ |
. . a—/x +1
Question(4) | Find the constants @ and b such that !(lLTg) bx =4 |
L J
QTR Now | lim
el sseasas(2) x>0  bx 1/ +1
. x=0 g (3) ! : bassio¥ (1) | ) X —
oo L cadgosa@ ! lim Iox 1
such that limitis exists | bissa kel (3) | X0 bX (IX 1)
then a—+«x +1=0atx =0 =lim e

T x50 b} (1++/X +1) -
=a-+0+1=0 -1
=a-1=0 b(1+)
:>a.:l 2b — _l

4
1

b=—1
of 2 8 712
% 0583422200: v~ prof math e /i %
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Question(f ) ( u-’u\ ‘.—‘%\}S\ ML—“) o ?E-“ °J“‘u‘ (....) eéj)s)aléﬂ

Ir Find the following limits : J “

1 cosx 1-cosx

|
IX +1— ! . CSCX —COtX ' . i i . i
l) lim X +1-2 | 3). lim '. lim Sinx_sinx _ lim SIQX
X —0 X_l | X —0 X CSCX 1 x —0 . X —0 .
[ —l e — : : : SIn X Sin X
ot | 711 B By 1) R
\/0—71 5 1 : . f 6_6 oo : x—0 SINX  x—0 X
- —+1— — —
lim 1, BTorm) =5=="5 l 25975
x>0 0 -1 | 0 0 L lim 2 q
|x—3| o i x>0 Zsip%.cos%
2) IIIT,; 3—x : : M\;g#dﬂ\ct&a: : - .
X L1 cosx sl askiul (V) | | . sin% . sin0
R L ! ! =1lim =lim——=0
RRE S = . T . x-0¢0s% x~0c0s0
| Gl isie) daliglide 1 lim gseX COSX SiK :
| 3| X —3 X >3 i _lim 1 _cosx E 1 cosx 1-cosx
X —9|= Loxo0 X X ' lim Sinx_ sinx i sinx
-9 x<d lim °%% — 0(Theroem) | T L
- M L 50 - ! sinx sinx
lim =-1 | '. . 1-cosx 1+COSX i SinX
+ =lim : -lim
%x—>3(_) " : | x50 SINX  1+COSX x—0 X
1 1
—[ %= : : . 1-cos?x
lim =3 =1 . D= lim X i
é(_) : ! x>0 SINX  x—01+CcoSX
X —> | |
- X_3 : : = i /s‘i’FrZ?- i 1: i i —_——=
then Ilng| X'D.N.E | o =i e Im = limsinx.; =0
X— — 1
. ; . 5). lim x 2 cos? (1) is form (0 eo)
). lim(Vx2+x —x | isform (c0—00) , x -0 X
X —00 ! PR
|
1

P S TR SR
e

we know -1 < cos(x) <1

Now by the conjugate i G iy Jall ik | 2,1 S A e ) Jal e |
5 5 S E L L ' 1 0<cos | =<1 ;x20 1 ClsulAgBigk)
I_ (\/X +X —X )(\/X +X +X ) . X : X2 Us u}a‘ |
m 1 | s~ I
X =0 x/x2+x +X | 5 2 % 1 U !
A y | 0.x%< X" Cos (Xj <x?
lim e =lim |
X290 X “HX +X  X2® < |
X | 1+X +X : 1 . .
lim X 1 ' lim 0=0 by using S-T’ lim x2%=0
X oo 1 B 1 x>0 2 x—0
X| J+=+1 1 . 2 1
X ! lim x“cos (jzo
: x—0 X

claly Gt 8 3 ol il el 5
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I " — (MATH-101) (s
Question(5 ) ( Al sl ) M\.\A) oe ?‘E'“ 5 pialadll () b5 mnlas
2 : 2
. —-5x+6 . 0 | . Arx “+1
6). lim * > s form() | AL
) x—2  x%-16 0 :7)' )!I_rllo cos 2X 2 +X +5
. (x~2) (x -3) e
)I('an (73 (x +2)(x 2+4) by using cont. at x = 27—
: 2
lim (-3 ,s0 lim 24’;’( +15 = 42” =27 N =2
x—>2  (X+2)(x 2+4) | *oe z ;f:l m=n
1 . T . _
_lim 23 _ coslim o vvs —COS27 =1
x—>2 (2+2)(4+4) ~ 32
9). lim sy s form () L
X - —
- 9). Iim IS form(o)
I - SA— X —1 X —1
Now by the conjugate ._
. JBX =X +25  /BX ++/X +25 -
lim : by fact

x—5  tan(x =5)  /6x +/X +25

. 6X —X =25 - 1
lim 22 =X"%.im
x—5 tan(X —=5) x—5 +/6X ++/Xx +25

lim 5(x -5) i 1 puty =x —5
x —»5 tan(x =5) x -5 ;}30+;}30 X >5=y >0 1
lim— (1) =-1
Iim 5y . 1 X —1
y—0 tany 2;]30
5 J30
2+/30 1
- I',__' e -
. . 1 !
Question(6 ) : A). Discuss the continuity of the function f (X)=sin (x—l) :
N o o o o o e e e e e e e e e e e e e e e e e e e e e e e 7
let g (x) = iis cont.vx e R - {1} - — - comp. 1 comp. 1
x-1 X > >sm(X_1)

let h(x)=sin x is cont. VxeR-—[2]

from [1],[2] both g(x)and A(x) are cont.on R-{1}
by Theroem £ = (& - g)(x), f is cont.on R — {1}
(x)
0583422200: - prof math i e /i
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I —————————— (MATH-101) v=
Question(6 ) ( u.a\_ﬂ\ cal ) M\..u) oe ?‘E'“ o‘)mu\ ( () ?BJ)BJ‘A*‘

———————————————————————————————————————————

-
2 "2

1] f (x)iscont. vx e Ri[-%,2]c R
f(-%)=1-Z+cos(-%)=%%<0
(%)

2
f (£)=1+%+cos(%)=%%>0
using L.V.T.
Ic e(-%,%) ST.=f (-2)<f )=0<f (%)

212

)= f (-%)f (5)<0

has least one solution S.T f (c) =0.i e f has a zero in the interval [—5,3

o o R R e REm R M e REm REm M e REm R M e m M M e m M M e e e e e

Xx+1 ; x<1

/
I
I
: C). Find the value of a and b such that f(X)=qax+b ; 1<x<2
I
I
I

X =1; x2>2
in cotinuous every where.
\ -
since £ is cont. every wher
then when x =1 if is cont.
limx +1=limax+b Xl i+ |X2—1
x—1 x—1 < >
1 + — (+)
a+bh=2--() RN B (2)|

then; x =2 1is cont.
limax + b =limx* -1

x—2 x—2

2a+b=3---(2)
from (1), (2)

) Sy )]\

% 0583422200; Jiss prof math Ly aise /i %




0583422200: J s> prof math sl dilae/| (25 Gl ) daala

P (MATH-101) s
( @Ld\ t_\;\}j\ M&Lm) o ('JS.\.\ D)A\A.Aj\ () ?BJ 5 yalas

0583422200

[ wele il Jloi calall, o % 7 3na] = adall l

v”w":"u“)'ud'd“"“‘\)'JJ"g I’ MW

VOATEYYY ooz Jln (*ﬂ@‘ﬁ)MATH S [
AEZRAVAES X m@_’u-_)_,sndnuc_)&
pS) 4enas Lo
- pall Basas CHLET jhee z an
A 58 g s Al S (1)
il ik EXERCISES ined) Excample Joi 0NV
Chial gl Jlass . (V)
Z AR a0 JSH pgan Lo LSV AL S |

( Seail 38 338 &l 5 Baan (o€
bl 231 2l JaY)

[ ® T B <l _ZF F FZOCE

- = ———




M g f JM‘M
NN i bl [

3 ETIALL d\p@a\)wn\u\
Ot s s o s B

OATETTY al d\}; u.\b.“ Xn\m
8 i)
% 0583422200: 1.~ prof math s sie %




= f{/ﬁ" (J}M &A\)W\A

[ Wﬂ 3& MMMMA?MM

1 g Sl
JURRRVR (|

4 il o g 5
MoV

(0 i) om s yind | (MATH-10D) s
(w\ @;M) thﬂuu]&\m ul.u\.\)] @’w‘ Clag

G 4
% 0583422200: u» prof math s sise %

il




